



Available online at <http://scik.org>

J. Math. Comput. Sci. 11 (2021), No. 4, 3999-4007

<https://doi.org/10.28919/jmcs/5564>

ISSN: 1927-5307

## SOME PROPERTIES OF THE LOC-TAI EXTENSION OF THE GAMMA FUNCTION

EMMANUEL DJABANG\*

Department of Mathematics, College of Basic and Applied Sciences,

University of Ghana, P. O. Box LG 25, Legon, Ghana

Copyright © 2021 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

**Abstract.** In this paper, we derive digamma and polygamma functions for the Loc – Tai extension of the Gamma function. Some inequalities associated with the derived functions are also proved.

**Keywords:** Loc-Tai gamma function; digamma and polygamma functions; inequality.

**2010 AMS Subject Classification:** 33B15, 26D07.

### 1. INTRODUCTION

The Gamma function  $\Gamma(s)$  is defined for  $s \in \mathbb{R}^+$  as (see [1, 2])

$$(1) \quad \Gamma(s) = \int_0^{\infty} e^{-t} t^{s-1} dt.$$

It was introduced by Leonhard Euler, a renown mathematician. His aim was to generalize the factorial function  $f(n) = n!$ ,  $n = 1, 2, 3, \dots$  to non integer values.

---

\*Corresponding author

E-mail address: [edjabang@ug.edu.gh](mailto:edjabang@ug.edu.gh)

Received February 16, 2021

The digamma function  $\psi(s)$  and the polygamma function  $\psi^m(s)$  are defined respectively for  $s > 0$  and  $m \in \mathbb{N}$  as (see [3, 4])

$$(2) \quad \psi(s) = -\gamma - \frac{1}{s} + \sum_{n=1}^{\infty} \frac{s}{n(n+s)} = -\gamma + \int_0^{\infty} \frac{e^{-t} - e^{-st}}{1 - e^{-t}} dt.$$

$$(3) \quad \psi^m(s) = (-1)^{m+1} m! \sum_{n=0}^{\infty} \frac{1}{(n+s)^{m+1}} = (-1)^{m+1} \int_0^{\infty} \frac{t^m e^{-st}}{1 - e^{-t}} dt,$$

where

$$\gamma = \lim_{n \rightarrow \infty} \left( \sum_{k=1}^n \frac{1}{k} - \log n \right)$$

is the Euler-Mascheroni constant.

The Loc - Tai extension of the gamma function (see [5]) is defined for  $s > 0$  and  $k \in \mathbb{N}$  as

$$(4) \quad \Gamma_t^k(s) = \int_0^{\infty} e^{-t} t^{k(s-1)} dt.$$

It also satisfies the following basic properties:

1.  $\Gamma_t^k(1) = 1$
2.  $\Gamma_t(s) = \Gamma(s)$
3.  $\Gamma_t^k(s) = \Gamma(k(s-1) + 1)$ .

## 2. PRELIMINARIES

In [5], the authors established the following results:

**Lemma 2.1.** *Let  $s > 0$  and  $k \in \mathbb{N}$ . Then*

$$(5) \quad \frac{1}{\Gamma_t^k(s)} = (k(s-1) + 1) e^{\gamma(k(s-1)+1)} \prod_{i=1}^{\infty} \left( 1 + \frac{(k(s-1) + 1)}{i} \right) e^{-\frac{(k(s-1)+1)}{i}},$$

where  $\gamma$  is the Euler-Mascheroni constant.

**Lemma 2.2.** *Let  $s > 0$  and  $k \in \mathbb{N}$ . Then*

$$(6) \quad \Gamma_t^k(s) = \lim_{n \rightarrow \infty} \frac{n! n^{k(s-1)+1}}{\prod_{i=0}^n (k(s-1) + i + 1)}.$$

The following results are also well known in the literature (see [7, 8]).

**Lemma 2.3 (Hölder’s inequality).** Let  $p > 1$  and  $q > 1$  such that  $\frac{1}{p} + \frac{1}{q} = 1$ . Let  $f$  and  $g$  be continuous functions on  $[a, b]$ . Then

$$(7) \quad \int_0^\infty f(t)g(t)dt \leq \left( \int_0^\infty f(t)^p dt \right)^{\frac{1}{p}} \left( \int_0^\infty g(t)^q dt \right)^{\frac{1}{q}}.$$

**Lemma 2.4 (Minkowski’s inequality).** Let  $p > 1$  and  $f$  and  $g$  be continuous functions on  $[a, b]$ . Then

$$(8) \quad \left( \int_0^\infty |f(t) + g(t)|^p dt \right)^{\frac{1}{p}} \leq \left( \int_0^\infty |f(t)|^p dt \right)^{\frac{1}{p}} + \left( \int_0^\infty |g(t)|^p dt \right)^{\frac{1}{p}}.$$

**Lemma 2.5.** Let  $p, q \geq 0$  and  $k \geq 1$ . Then the inequality

$$(9) \quad p^k + q^k \leq (p + q)^k$$

holds.

**Definition 2.6.** A function  $f : I \rightarrow (0, \infty)$  is said to be log convex if  $\ln f$  is convex on  $I$ . That is

$$(10) \quad \ln f(\alpha x + \beta y) \leq \alpha \ln f(x) + \beta \ln f(y),$$

or equivalently,

$$(11) \quad f(\alpha x + \beta y) \leq (f(x))^\alpha (f(y))^\beta,$$

for each  $x, y \in I$  and  $\alpha, \beta \in (0, 1)$  such that  $\alpha + \beta = 1$ .

The main aim of this paper is to derive digamma and polygamma functions for the Loc – Tai extension of the Gamma function, and prove some associated inequalities.

### 3. MAIN RESULTS

**Proposition 3.1.** Let  $t, s > 0$  and  $k \in \mathbb{N}$ . Then the digamma function  $\psi_{t^k}(s)$  has the following series representation:

$$(12) \quad \psi_{t^k}(s) = -k \left( \frac{1}{k(s-1)+1} + \gamma \right) - k \sum_{i=1}^\infty \left( \frac{1}{i} - \frac{1}{k(s-1)+i+1} \right).$$

*Proof.* By relation (5), we have

$$\frac{1}{\Gamma_{\gamma^k}(s)} = (k(s-1)+1)e^{\gamma(k(s-1)+1)} \prod_{i=1}^{\infty} \left(1 + \frac{k(s-1)+1}{i}\right) e^{-\frac{k(s-1)+1}{i}}$$

where  $\gamma$  is the Euler-Mascheroni constant.

By taking log on both sides, we have

$$\ln \Gamma_{\gamma^k}(s) = -\ln(k(s-1)+1) - \gamma k(s-1) + 1 - \sum_{i=1}^{\infty} \ln\left(1 + \frac{k(s-1)+1}{i}\right) + \sum_{i=1}^{\infty} \frac{k(s-1)+1}{i}.$$

Now

$$\begin{aligned} \psi_{\gamma^k}(s) &= \frac{d}{ds} (\ln \Gamma_{\gamma^k}(s)) \\ &= -\frac{k}{k(s-1)+1} - \gamma k - \sum_{i=1}^{\infty} \left( \frac{k}{k(s-1)+i+1} \right) + \sum_{i=1}^{\infty} \frac{k}{i} \\ &= -\frac{k}{k(s-1)+1} - \gamma k - k \sum_{i=1}^{\infty} \left( \frac{1}{i} - \frac{1}{k(s-1)+i+1} \right) \\ &= -k \left( \frac{1+\gamma}{k(s-1)+1} \right) - k \sum_{i=1}^{\infty} \left( \frac{1}{i} - \frac{1}{k(s-1)+i+1} \right). \end{aligned}$$

□

Alternatively, we have

*Proof.* By relation (6), we have

$$\Gamma_{\gamma^k}(s) = \lim_{n \rightarrow \infty} \frac{n! n^{k(s-1)+1}}{\prod_{i=0}^n (k(s-1)+i+1)}.$$

By taking log on both sides, we have

$$\ln \Gamma_{\gamma^k}(s) = \lim_{n \rightarrow \infty} \left( \ln n! + (k(s-1)+1) \ln n - \sum_{i=0}^n \ln(k(s-1)+i+1) \right).$$

Differentiating with respect to  $s$  yields

$$\begin{aligned} \psi_{t^k}(s) &= \lim_{n \rightarrow \infty} \left( k \ln n - \sum_{i=0}^n \frac{k}{k(s-1) + i + 1} \right) \\ &= k \lim_{n \rightarrow \infty} \ln n - \sum_{i=0}^{\infty} \frac{k}{k(s-1) + i + 1}. \\ &= k \lim_{n \rightarrow \infty} \ln n - \frac{k}{k(s-1) + 1} - \sum_{i=1}^{\infty} \frac{k}{k(s-1) + i + 1}. \end{aligned}$$

Replacing  $\lim_{n \rightarrow \infty} \ln n$  with  $\sum_{i=1}^{\infty} \left( \frac{1}{i} - \gamma \right)$  in the above expression gives

$$\psi_{t^k}(s) = -k \left( \frac{1}{k(s-1) + 1} + \gamma \right) - k \left( \sum_{i=1}^{\infty} \frac{1}{i} - \frac{1}{k(s-1) + i + 1} \right).$$

□

**Proposition 3.2.** Let  $t, s > 0$  and  $k \in \mathbb{N}$ . Then the digamma function  $\psi_{t^k}(s)$  has the integral representation

$$(13) \quad \psi_{t^k}(s) = -k \left( \frac{1}{k(s-1) + 1} + \gamma \right) - k \int_0^{\infty} \left( \frac{1 - e^{-(k(s-1)+1)x}}{1 - e^{-ix}} \right) dx$$

*Proof.* From (12), we have

$$\begin{aligned} \psi_{t^k}(s) &= -k \left( \frac{1}{k(s-1) + 1} + \gamma \right) - k \sum_{i=1}^{\infty} \left( \frac{1}{i} - \frac{1}{k(s-1) + i + 1} \right) \\ &= -\frac{k}{k(s-1) + 1} - \gamma k - k \sum_{i=1}^{\infty} \int_0^{\infty} \left( e^{-ix} - e^{-(k(s-1)+i+1)x} \right) dx \\ &= -\frac{k}{k(s-1) + 1} - \gamma k - k \int_0^{\infty} \sum_{i=1}^{\infty} \left( e^{-ix} - e^{-(k(s-1)+i+1)x} \right) dx \\ &= -\frac{k}{k(s-1) + 1} - \gamma k - k \int_0^{\infty} \sum_{i=1}^{\infty} e^{-ix} \left( 1 - e^{-(k(s-1)+1)x} \right) dx \end{aligned}$$

$$\begin{aligned}
&= -\frac{k}{k(s-1)+1} - \gamma k - k \int_0^\infty \left(1 - e^{-(k(s-1)+1)x}\right) \sum_{i=1}^\infty e^{-ix} dx \\
&= -k \left( \frac{1}{k(s-1)+1} + \gamma \right) - k \int_0^\infty \left( \frac{1 - e^{-(k(s-1)+1)x}}{1 - e^{-ix}} \right) dx.
\end{aligned}$$

□

**Proposition 3.3.** Let  $s > 0$  and  $k, m \in \mathbb{N}$ . Then the polygamma function  $\psi_{t^k}^m(s)$  has the series representation

$$(14) \quad \psi_{t^k}^m(s) = (-1)^{m+1} m! \sum_{i=0}^\infty \frac{k^{m+1}}{(k(s-1)+i+1)^{m+1}}.$$

*Proof.* From (12), we have

$$(15) \quad \psi_{t^k}(s) = -\frac{k}{k(s-1)+1} - \gamma k - k \sum_{i=1}^\infty \left( \frac{1}{i} - \frac{1}{k(s-1)+i+1} \right).$$

By differentiating (15) termwisely with respect to  $s$ , we have

$$\psi_{t^k}^{(1)}(s) = \frac{d}{ds} (\psi_{t^k}(s)) = \frac{k^2}{(k(s-1)+1)^2} + \sum_{i=1}^\infty \frac{k^2}{(k(s-1)+i+1)^2}$$

$$\psi_{t^k}^{(2)}(s) = \frac{d^2}{ds^2} (\psi_{t^k}(s)) = -\frac{2k^3}{(k(s-1)+1)^3} - \sum_{i=1}^\infty \frac{2k^3}{(k(s-1)+i+1)^3}$$

$$\psi_{t^k}^{(3)}(s) = \frac{d^3}{ds^3} (\psi_{t^k}(s)) = \frac{6k^4}{(k(s-1)+1)^4} + \sum_{i=1}^\infty \frac{6k^4}{(k(s-1)+i+1)^4}$$

$$\psi_{t^k}^{(4)}(s) = \frac{d^4}{ds^4} (\psi_{t^k}(s)) = -\frac{24k^5}{(k(s-1)+1)^5} - \sum_{i=1}^\infty \frac{24k^5}{(k(s-1)+i+1)^5}$$

⋮

$$\psi_{t^k}^m(s) = (-1)^{m+1} m! k^{m+1} \frac{1}{(k(s-1)+1)^{m+1}} + \sum_{i=1}^{\infty} \frac{1}{(k(s-1)+i+1)^{m+1}}$$

Thus

$$\psi_{t^k}^m(s) = (-1)^{m+1} m! \sum_{i=0}^{\infty} \frac{k^{m+1}}{(k(s-1)+i+1)^{m+1}}.$$

□

**Proposition 3.4.** Let  $s > 0$  and  $k, m \in \mathbb{N}$ . Then the polygamma function  $\psi_{t^k}^m(s)$  has the integral representation

$$(16) \quad \psi_{t^k}^m(s) = (-1)^{m+1} (k)^{m+1} \int_0^{\infty} \frac{t^m e^{-(k(s-1)+1)t}}{1 - e^{-t}} dt.$$

*Proof.* From (14), we have

$$\psi_{t^k}^m(s) = (-1)^{m+1} m! \sum_{i=0}^{\infty} \frac{k^{m+1}}{(k(s-1)+i+1)^{m+1}}$$

By applying the inverse Laplace transform on the summand, we have

$$\begin{aligned} \psi_{t^k}^m(s) &= (-1)^{m+1} k^{m+1} \sum_{i=0}^{\infty} \int_0^{\infty} t^m e^{-(k(s-1)+i+1)t} dt \\ &= (-1)^{m+1} k^{m+1} \int_0^{\infty} \sum_{i=0}^{\infty} t^m e^{-(k(s-1)+i+1)t} dt \\ &= (-1)^{m+1} k^{m+1} \int_0^{\infty} t^m e^{-k(s-1)t} \sum_{i=0}^{\infty} e^{-(i+1)t} dt \\ &= (-1)^{m+1} (k)^{m+1} \int_0^{\infty} \frac{t^m e^{-(k(s-1)+1)t}}{1 - e^{-t}} dt. \end{aligned}$$

□

**Theorem 3.5.** Let  $r > 0, s > 0$  and  $\alpha, \beta \in (0, 1)$  such that  $\alpha + \beta = 1$  and  $\alpha m + \beta n \in \mathbb{N}$ . Then the inequality

$$(17) \quad \left| \psi_{t^k}^{(\alpha m + \beta n)}(\alpha r + \beta s) \right| \leq \left| \psi_{t^k}^{(m)}(r) \right|^{\alpha} \left| \psi_{t^k}^{(n)}(s) \right|^{\beta}$$

holds.

*Proof.* From relation (16), we have

$$\begin{aligned}
 |\Psi_{t^k}^{(\alpha m + \beta n)}(\alpha r + \beta s)| &= \int_0^\infty \frac{t^{(\alpha m + \beta n)} k^{(\alpha m + \beta n + 1)} e^{-(k\alpha r + \beta s - 1)t}}{(1 - e^{-t})} dt \\
 &= \int_0^\infty \frac{t^{(\alpha m + \beta n)} k^{(\alpha m + \beta n + \alpha + \beta)} e^{-(k(\alpha r + \beta s - \alpha + \beta) + \alpha + \beta)t}}{(1 - e^{-t})^{\alpha + \beta}} dt \\
 &= \int_0^\infty \frac{e^{-(\alpha k(r-1) + 1)t - (\beta k(s-1) + 1)t} t^{\alpha m} k^{\alpha(m+1)} t^{\beta n} k^{\beta(n+1)}}{(1 - e^{-t})^{\alpha + \beta}} dt \\
 &= \int_0^\infty \frac{e^{-\alpha(k(r-1) + 1)t} t^{\alpha m} k^{\alpha(m+1)} e^{-\beta(k(s-1) + 1)t} t^{\beta n} k^{\beta(n+1)}}{(1 - e^{-t})^\alpha (1 - e^{-t})^\beta} dt \\
 &= \int_0^\infty \left( \frac{e^{-(k(r-1) + 1)t} t^{\alpha m} k^{\alpha(m+1)}}{(1 - e^{-t})} \right)^\alpha \left( \frac{e^{-(k(s-1) + 1)t} t^{\beta n} k^{\beta(n+1)}}{(1 - e^{-t})} \right)^\beta dt
 \end{aligned}$$

By applying Hölder's inequality, we have

$$\begin{aligned}
 |\Psi_{t^k}^{(\alpha m + \beta n)}(\alpha r + \beta s)| &\leq \left[ \int_0^\infty \frac{e^{-(k(r-1) + 1)t} t^{\alpha m} k^{\alpha(m+1)}}{(1 - e^{-t})} dt \right]^\alpha \left[ \int_0^\infty \frac{e^{-(k(s-1) + 1)t} t^{\beta n} k^{\beta(n+1)}}{(1 - e^{-t})} dt \right]^\beta \\
 &= |\Psi_{t^k}^{(m)}(r)|^\alpha |\Psi_{t^k}^{(n)}(s)|^\beta.
 \end{aligned}$$

□

**Remark 3.6.** A similar results was proved for the  $(p, k)$ -gamma function, see Theorem 2.5 of [6].

**Theorem 3.7.** Let  $r > 0$ ,  $s > 0$  and  $b \geq 1$ . Then the inequality

$$(18) \quad \left( |\Psi_{t^k}^{(m)}(r)| + |\Psi_{t^k}^{(n)}(s)| \right)^{\frac{1}{b}} \leq |\Psi_{t^k}^{(m)}(r)|^{\frac{1}{b}} + |\Psi_{t^k}^{(n)}(s)|^{\frac{1}{b}}$$

holds.

*Proof.* From (16), we obtain

$$\left[ |\Psi_{t^k}^{(m)}(r)| + |\Psi_{t^k}^{(n)}(s)| \right]^{\frac{1}{b}} = \left[ \int_0^\infty \frac{e^{-(k(r-1) + 1)t} t^{\alpha m} k^{\alpha(m+1)}}{(1 - e^{-t})} dt + \int_0^\infty \frac{e^{-(k(s-1) + 1)t} t^{\beta n} k^{\beta(n+1)}}{(1 - e^{-t})} dt \right]^{\frac{1}{b}}.$$



By applying Lemma 2.5 followed by Minkowski’s inequality, we have

$$\begin{aligned}
 \left[ \left| \Psi_{t^k}^{(m)}(r) \right| + \left| \Psi_{t^k}^{(n)}(s) \right| \right]^{\frac{1}{b}} &= \left[ \int_0^\infty \left( \frac{e^{-\frac{1}{b}(k(r-1)+1)t} t^{\frac{m}{b}} k^{\frac{m+1}{b}}}{(1-e^{-t})^{\frac{1}{b}}} \right)^b + \int_0^\infty \left( \frac{e^{-\frac{1}{b}(k(s-1)+1)t} t^{\frac{n}{b}} k^{\frac{(n+1)}{b}}}{(1-e^{-t})^{\frac{1}{b}}} \right)^b dt \right]^{\frac{1}{b}} \\
 &\leq \left[ \left( \int_0^\infty \frac{e^{-\frac{1}{b}(k(r-1)+1)t} t^{\frac{m}{b}} k^{\frac{m+1}{b}}}{(1-e^{-t})^{\frac{1}{b}}} + \int_0^\infty \frac{e^{-\frac{1}{b}(k(s)+1)t} t^{\frac{n}{b}} k^{\frac{(n+1)}{b}}}{(1-e^{-t})^{\frac{1}{b}}} \right)^b dt \right]^{\frac{1}{b}} \\
 &\leq \left( \int_0^\infty \frac{e^{-(k(r-1)+1)t} t^m k^{(m+1)}}{(1-e^{-t})} dt \right)^{\frac{1}{b}} + \left( \int_0^\infty \frac{e^{-(k(s-1)+1)t} t^n k^{(n+1)}}{(1-e^{-t})} dt \right)^{\frac{1}{b}} \\
 &= \left| \Psi_{t^k}^{(m)}(r) \right|^{\frac{1}{b}} + \left| \Psi_{t^k}^{(n)}(s) \right|^{\frac{1}{b}} .
 \end{aligned}$$

□

**CONFLICT OF INTEREST**

The author declares that there is no conflict of interests.

**REFERENCES**

[1] M. Abramowitz, I. Stegun, (eds.), Handbook of mathematical functions with formulas, graphs, and mathematical tables. National Bureau of Standards Applied Mathematics Series 55, U.S. Government Printing Office, Washington, D.C. 1964.

[2] G.E. Andrews, R. Askey, R. Roy, Special functions, Cambridge University Press, 1999.

[3] E. Artin, The gamma function, Holt, Rinehart and Winston, New York, 1964.

[4] E.W. Barnes, The theory of gamma function, Messenger Math. 29 (1900), 64-128.

[5] T.G. Loc, T.D. Tai, The generalized gamma functions, Acta Math. Vietnam. 37 (2012), 219-230.

[6] K. Nantomah, E. Prempeh, S.B. Twum, On a  $(p, k)$ -analogue of the gamma function and some associated Inequalities, Moroccan J. Pure and Appl. Anal. 2 (2016), 79-90.

[7] H.L. Royden, Real analysis, Prentice-Hall, New Delhi, 1988.

[8] W. Rudin, Real and complex analysis, 3rd ed, McGraw-Hill, New York, 1987.